
Fe3Th7 (D102) Structure:
A3B7 hP20 186 c b2c-001
This structure originally had the label A3B7 hP20 186 c b2c. Calls to that address will be redirected here.
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Prototype Fe3Th7

AFLOW prototype label A3B7 hP20 186 c b2c-001

Strukturbericht designation D102

ICSD 108477

Pearson symbol hP20

Space group number 186

Space group symbol P63mc
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AFLOW prototype command aflow --proto=A3B7_hP20_186_c_b2c-001

--params=a, c/a, z1, x2, z2, x3, z3, x4, z4

Other compounds with this structure
B3CoRh6, B3FeRh6, B3Ni7, B3Re7, B3Rh7, B3Ru7, B3Tc7, C3Fe7, Co3Nd7, Co3Th7, Ir3Ce7, Ir3La7, Ir3Pr7, Ir3Th7, Ni3Ce7,
Ni3La7, Ni3Nd7, Ni3Pr7, Ni3Th7, Os3Th7, Pd3Ce7, Pd3Gd7, Pd3La7, Pd3Nd7, Pd3Pr7, Pd3Sm7, Pd3Tb7, Pd3Th7, Pt3La7,
Pt3Nd7, Pt3Th7, Rh3Ce7, Rh3Dy7, Rh3Gd7, Rh3Ho7, Rh3La7, Rh3Nd7, Rh3Pr7, Rh3Sm7, Rh3Tb7, Rh3Th7, Ru3Th7
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B5 = −2x2 a1 − x2 a2 + z2 a3 = − 3
2ax2 x̂ +

√
3
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